WESTIN

| NSTALLATI ON |

NSTRUCTI

W2 FWIDTH FRONT BUMPER
APPLI CATI ON:
2018 Jeep Wrangler JL

PART NUMBER:
5S®8B0108,01599,012%

Westin Automotive Products, Inc.
320 W. Covina Blvd
San Dimas, Ca. 91773

WESTIN

P.N.: 759801RevA ECO #: W09

Thank you for choosing Westin products
for additional installation assistance please call
Customer Service (800) 798346

www.westinautomotive.com
DATE: 03/15/18

CONTENT

| TEM | QUANTI TY DESCRI PTI ON TOOLS NEEPEI
1 1 FRONT BUMPER ASSEMBLY 7MM SOCKHT
2 2 LED MOUNTI NG BRATKES only 7MM WRENJH
3 8 M10 FLAT WASHER 10MM SOCKET
4 8 M10 SPLIT LOCK WASHER 10MM WREN|CH
5 4 M10 HEX HEAD CAP SCREW | 13MM SOCKET
6 4 M10 HEX NUT 13MM WREN|CH
7 4 M6 SERRATED FL*ANGNE YNUTNCLUDE®DO M2|F HL 6MM SOCHKET
8 4 M6 SOCKET BUTTON* BEAD BRCITUDEEL OWI2T3H 6 8 WRE N|CH
9 4 M6 NYLOCK NUT ALLEN WRENCH
10 4 SMALL M6 FLAT WASHER RATCHET

11 4 M4 HEX NUT TORQUE WRHENC
12 12 M4 FLAT WASHER DRI LL

13 4 M4 SPLIT LOCK WASHER

14 4 SHORT M4 HEX SOCKET BUTTON HEAD SCREW

15 2 LONG M4 HEX SOCKET BUTTON HEAD SCREW

16 6 M4 HEX SOCKET CAP SCREW

17 8 M4 NYLOCK NUT

18 1 RUBBER GROMMELTY | NCL UDE EB 0WI0T5H8 & D8 &

19 2 NYLON SPACER

20 8 LARGE M4 FLAT WASHER

ANTFSEI ZE LUBRI CANT MUST BE USED ON ALL STAINLESS STEEL FASTENERE T
| TEM 1 |(LED) | TEM 2



PROCEDURE
1. Remove contents from box, verify if all/l parts | ist|led
Carefully readi madr watdieoss amelf al ¢ attempting i nstalll
Failure to identify damage before installation couyl d
2.Unplug any wire connections to the bumper such as ([fo
3.Loosen the bolts securing t%ee rkiigwdroer clement brackelts

4 Remove the 4 nuts on each he
5.Carefully remove the front bumper from the vehicle
Q
v ]
¢
)
= =
- .
%
Fig /L

Westin Automotive Products, Inc.
320 W. Covina Blvd
San Dimas, Ca. 91773

WESTIN

P.N.: 759801RevA ECO #: W09

Thank you for choosing Westin products
for additional installation assistance please call
Customer Service (800) 798346

2 www.westinautomotive.com
DATE: 03/15/18



6.Align the Front Bumper Assembly (1) with the holes on tilhe
7.Use the suppli ed MI1o0 shHacrudrwea rteh eS &eu nipiegurteos t4dhe& Vvvehi cl e.

ECOBICHNO,
] |
a N 2
L
0 e
<=y
<==./_T_ —
Y/
Fi gl 4
Fig| 5

FOG LI GHT | NSTALMWATIt®N BuFmplelr onl y)

Factory FoO@QEMIi Qthd esl Bumper s: Use the supplied M6 Flat Washel
cure the fog lightFitgunehel . bracket as shown 1in

OEM Pl astic Bumpers: Use t hHe swrplrieced hM4 bhr afddgreertedWaH. t/ b EKW @R P
After markkelWs d itgthd suni ve|Fj g|smowhitg migh W3 b/LakWV VROG VHSDUDWHO\

Fi gl 3
After mar k
Light |[Mou
Fig|l 1
WEST'N Westin Automotive Products, Inc. Thank you for choosing Westin products
I 320 W. Covina Bivd for additional installation assistance please call

San Dimas, Ca. 91773 Customer Service (800) 798346

3 www.westinautomotive.com
P.N.: 759801RevA ECO #: W09 DATE: 03/15/18



